PART I

For each of the words in Capital letters, choose from among the answers, the word that is closest in meaning:

(1) TARRY   




(A) polish   (B)restrain   (C)surpass   (D)linger   (E)disturb

(2) TAUTOLOGY

(A) memory   (B)repetition   (C) tension  (D)simile   (E)lack of logic

(3) TAWDRY

(A) Orderly   (B)
Meretricious   (C)reclaimed   (D)filtered   (E)proper

(4) TEMERITY

(A) timidity   (B)resourcefulness   (C)boldness   (D)tremulousness   (E)caution

(5) TEMPORAL

(A) priestly   (B)scholarly   (C)secular   (D)sleepy   (E)sporadic

(6) TENACIOUS

(A) fast-running   (B) intention   (C)obnoxious   (D) holding fast  (E)collective

(7) TENACITY

(A) Splendour (B) perseverance   (C) propensity   (D) ingratitude   (E) decimation
(8) TENDENTIOUS

(A) biased   (B)likely   (C)absurd   (D)festive   (E)literary

(9) TENTATIVE

(A) Prevalent   (B) portable   (C) mocking   (D) wry (E) experiment
(10) TENUOUS

(A) vital   (B) thin  (C)  careful (D)dangerous   (E)necessary

For each of the words in Capital letters, choose from among the answers, the closest word that has the opposite meaning:

(11) ENSUE

(A) litigate  (B)precede  (C)arbitrate   (D)accentuate  (E)delay

(12) RETROSPECTION

(A) introversion  (B)deliberation  (C)anticipation   (D)gregariousness  (E)equivocation

(13) REGRESS

(A) deviation  (B)entrance  (C)approbation   (D)dilemma  (E)renown

(14) MAUNDER

(A) speak purposefully  (B) maintain silence (C) appear unaware  (D)evade entanglement (E)seek consensus

(15) HUBRIS

(A) impiety  (B)insouciance  (C) apathy  (D)mendacity  (E)humility
(16) HAMPER

(A) feed  (B)animate  (C) facilitate  (D) treat lightly (E)caution tactfully

(17) URBANE

(A) civic  (B)remote  (C)deceptive   (D)conventional  (E)naïve
(18) DEMISE

(A) integrity  (B)irritation  (C)birth   (D)excess  (E)surmise

(19) PARIAH

(A) miser  (B)nomad  (C)servant   (D)idol  (E)renegade

(20) PROSTRATE

(A) divert  (B)strengthen  (C)depreciate   (D)scrutinize  (E)reassure

Read the following text.  The passage contains some blank spaces.  Choose the sentence from the list A – I, that best fits in each of the blank spaces.  The numbers in brackets refer to Question numbers.

At the present time, 98 percent of the world energy consumption comes from stores sources, such as fossil fuels or nuclear fuel. ___21____ Discovery of large additional fossil fuel reserves, solution of the nuclear safety and waste disposal problems, or the development of controlled thermonuclear fusion will provide only a short-term solution to the world’s energy crisis. Within about 100 years, the thermal pollution resulting from our increased energy consumption will make solar energy a necessity at any cost.

Man’s energy consumption is currently about one part in ten thousand that of the energy we receive from the sun. ___22___. If this growth continues, within 100 years our energy consumption will be about  1 percent of the absorbed solar, enough to increase the average temperature of the earth by about one degree centigrade if stored energy continues to be our predominant source. This will be the point at which there will be significant effects in our climate, including the melting of the polar ice caps. A phenomenon which will raise the level of the oceans and flood parts of our major cities. ___23____. As the ice caps begin to melt, the reflectivity will decrease, thus heating the earth still further.

It is often stated that the growth rate will decline or that energy conservation measures will preclude any long-range problem. Instead, this only postpones the problem by a few years. Conservation by a factor of two together with a maintenance of the 5 percent growth rate delays the problem by only 14 years. ___24___; in addition, the inequalities in standards of living throughout the world will provide pressure toward an increase in growth rate, particularly if cheap energy is available. The problem of changing climate will not be evident until perhaps ten years before it becomes critical due to the nature of an exponential growth rate together with the normal annual weather variations. ___25____. 

The only practical means of avoiding the problem of thermal pollution appears to be the use of solar energy. (Schemes to “ air-condition” the earth do not appear to be feasible before the twenty-second century). ______26_________. The cost of solar energy is extremely favourable now, particularly when compared to the cost of relocating many of our major cities.

A. However, it is growing at a 5 percent rate, of which about 2 percent represents a population growth and 3 percent a per capita energy increase.

B. The primary concern is isolation an ambiguity and clarify by definition

C.  There is positive feedbacks associates with this process, since the polar ice cap contributes to the partial reflectivity of the energy arriving form the sun:

D. Only hydroelectric and wood energy represent completely renewable sources on ordinary time scales.

E. Reduction of the growth rate to 4 percent postpones the problem by only 25 years;

F. The melting of polar ice caps will accelerate the transition to solar energy

G. This may be too short period to circumvent the problem by converting to other energy sources, so advance planning is a necessity.

H. It is proposed to utilize the hydroelectric and wood energy to replace non- conventional energy sources such as nuclear energy

I. Using the solar energy before it is dissipated to heat does not increase the earth’s energy balance.

The most damning thing that can be said about the world’s best-endowed and richest country is that is not only the leader in health status, but that it is a so low in the ranks of other nations. The United States ranks 18th among nations of the world in male life expectancy at birth. 9th in the female life expectancy at birth, and 12th in infant mortality. More importantly huge variations are evident in the health status in the United States from one place to the next and from one group to the next.

The forces that effect health can be aggregated into four groupings that lend themselves to the analysis of all health problems. Clearly the largest aggregate of forces resides in the persons’ environment. His own behavior, in part derived from his experiences with his environment, is the next greatest force affecting his health. Medical care services, treated as separate from other environmental factors because of the special interest we have in them, make a modest contribution to health status. Finally, the contributions of heredity to health are difficult to judge. We are team plated at conception as to our basic weakness and strengths; but many hereditary attributes never become manifest because of environmental and behavioral forces that act before the genetic forces come to maturity, and other hereditary attributes are increasingly being palliated by medical care.

No other country spends what we do per capita for medical care. The care available is among the best technically, even if used too lavishly and thus dangerously, but none of the countries that stand above us in health status have such a high proportion of medically disenfranchised persons. Given the evidence that medical care is not that valuable and access to care not that bad, it seems most unlikely that our bad showing is caused by the significant proportion who are poorly served. Other hypotheses have greater explanatory power: excessive poverty, both actual and relative, and excessive affluence.

Excessive poverty is probably more prevalent in the U.S than in any of the courtiers that have a better infant mortality rate and female life expectancy at birth. This is probably true also for all but four or five of the countries with a longer male life expectancy. In the notably poor countries that exceed us in male survival, difficult living conditions are a more accepted way of life and in several of them, a good basic diet, basic medical care and basic education, and lifelong employment opportunity are an everyday fact of life. In the U.S., a national unemployment level of 10 percent may be 40 percent in the ghetto while less than 4 percent may elsewhere. The countries that have surpassed us in health do not have such severe or entrenched problems. Nor are such high proportions of their people involved in them.

Excessive affluence is not so obvious a cause of ill health, but at least until recently, few other nations could afford such unhealthful ways of living. Excessive intake of animal protein and fasts, dangerous imbibing of alcohol and is of tobacco and drugs (prescribed and proscribed), and dangerous recreational sports and driving habits are all possible only because of affluence. Our heritage, desires, opportunities, and our machismo, combined with the relatively low cost of bad foods and speedy vehicles, make us particularly vulnerable to our affluence. And those who are not affluent try harder. Our unacceptable health status, then, will not be improved appreciably by expanded medical resources nor by their redistribution so much as by general attempt to improve the quality of life for all.

(27)
Which of the following would be the most logical continuation of the passage?


A. Suggestions for specific proposal to improve the quality of life in America


B. A listing of the most common causes of death among make and female adults


C. An explanation of the causes of poverty in America, both absolute and relative


D. A proposal to ensure that residents of central cities receive more and better 

     medical care.

F.A study of the overcrowding in urban hospitals serving primarily the poor 

(28)
All the following are mentioned in the passage as factors affecting the health of the population EXCEPT

A. the availability of medical care services  

B. the genetic endowment of individuals

C. overall environmental factors

D. the nation’s relative position in health status

E. an individual own behavior

(29)
The author is primarily concerned with 

A. Condemning the U.S for its failure to provide better medical care to the poor.

B. Evaluating the relative significance of factors contributing to the poor health        

     status in the U.S.

C. Providing information the reader can use to improve his or her personal health.


D. Comparing the general health of the U.S population with world averages.


E. Advocating specific measures designed to improve the health of the U.S     

         population.

(30)
The passage best supports which of the following conclusion about the relationship  

       
between per capita expenditure for medical care and the health of a population?

      A. The per capita expenditure for medical care has relatively little effect on the     

total amount of medical care available to a population

A. The genetic makeup of a population is a more powerful determinant of the health of a population than the per capita expenditures for medical care.

B.  A population may have very high per capita expenditures for medical care and yet have a lower health status than other population with lower per capita expenditures 

C. The higher the per capita expenditure on medical care, the more advanced is the medical technology; and the more advanced the technology, the better is the health of the population.

D. Per capita outlays for medical care devoted to adults are likely to have a greater effect on the status of the population than outlays devoted to infants.

(31)
The author refers to the excessive intake of alcohol and tobacco and drug use in order to 

A. Show that some health problems cannot be attacked by better medical care.

B. Demonstrate that use of tobacco and intoxicants is detriment to health.

C. Cite examples of individual behavior that have adverse consequences for health status.

D. Refute the contention that poor health is related to access to medical care.

E. Illustrate ways in which affluence may contribute to poor health status.

(32)
The passage provides information to answer which if the following questions:

A. What is the most powerful influence on the health status of population?

B. Which nation in the world leads in health status?

C. Is the life expectancy of males in the U.S longer than that of females?

D. What are the most important genetic factors influencing the health of an individual?

E. How can the U.S reduce the incidence of unemployment in the ghetto?

PART II

Q1. 
Fill in the missing number in the sequence  

5
8
14
??
35    
50

(a)  18   (b) 16   (c) 23   (d) 24   (e) 32

Q2.
In the following series, how many Bs are there such that each B is followed by an C next to it if the C is not followed by a D next to it? 

B    C    B    D    Q    M    B    C    D    M    C    B    C    C    B    Q    M    B    

B    C    Q    B    C    D    C    B    A     M   C    B    C    M

(a)2
(b)3
(c)5
(d)4
(e)6

Q3.
If TVSNJTF is coded as SURMISE how will QFBSM be coded?

(a) SHEET
(b) TRIAL
(c) COVER
(d) MIND
(e) PEARL

Q4.
Suppose the first and second letters in the word SENSATIONALY were interchanged, also the third and fourth letters, the fifth and sixth etc.  Print the letter that would then be the twelfth letter counting from the right.

(a) T 

 (b) L

   (c) N

   (d) S

   (e) E  

Q5.
How would the decimal number 466 be represented in a base -7 number System?

 
(a) 1342               (b) 1432           (c) 1234           (d) 1546           (e) 1765

Q6.
What is the largest prime number that can be stored in an 6-bit word computer?

(a) 61                     (b) 63            (c) 69            (d) 67           (e) 65

Q7.
If n = 68 x 12 x 51, which of the following is NOT an integer?

(a)
n / 102

(b)
n / 72

(c)
n / 153


(d)
n / 122

(e)
n / 136  

Q8.
Which of the following is a power of 3?


a.
6245

b.
6762

c.
6561



d.
6178

e.
6124

Pick the odd one out

Q9.
(a)
ORACLE

(b)
INGRESS
(c)
WINDOWS NT   


(d)
DB2


(e)        SYBASE

Q10.
(a)
SMTP


(b)
HTTP


(c)
WAP


(d)
PEOPLE SOFT
(e)        ARP

Q11.
The three numbers in brackets represent the length of the sides of a triangle. Which of these does not represent a proper triangle?

(a)
(2m, 3m, 4m)
(b)
(4m, 5m, 4m)
(c) 
(4m, 6m, 8m) 

(d) 
(3m, 3m, 3m)     (e) 
(12m, 6m, 5m) 

Q12.
The three numbers in brackets in each of the following options represents the number of vertices, the number of edges and the number of faces respectively. Find out which of these represents a solid planar cube?

(a)  (8,8,6)
 (b)  (8,6,4)     (c)  (8,12,6)  (d)  (6,6,6)   (e)  (4,6,8)

Q13.
Which set of data exhibits a higher Standard Deviation?


(a)
2, 0, -2, 2, 0, -2
(b)
2, 2, 2, 0, 2, 2
     (c)
-2, -2, -2, -2, -2, -2

(d)
2, 2, 2, 2, 2, 2

(e)
2, -2, 2, -2, 2, -2   
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The three circles below represent the number of people who play CRICKET, TENNIS, and HOCKEY.  Answer the next three questions based on the diagram

Q14.
How many more (or less) people who play TENNIS than people who play CRICKET?


(a)2
(b)3
(c)1
(d)4
(e)5

Q15.
What percentage of people playing HOCKEY also play CRICKET but not TENNIS?


(a)23
(b)12
(c)15
(d)16.6
(e) 17.4

Q16.
What percentage of total people play all three games?


(a)5
(b)7
(c)6
(d)8
(e)9


The figure on the left represents number of dealers for a Company and the figure on the right depicts region-wise distribution for 1998
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Dealers (in "00s)
Q17.
Which year has registered the maximum percentage growth in dealers?

(a) 1998
(b) 1996
(c) 1994
(d) 1686
(e) 1888

Q18.
What is the average number of dealers for 1995-1999?

(a) 7700
(b) 8800
(c) 6800
(d) 4800
(e) 7800

Q19.
If 10% of dealers in 1998 left the Company, how many fresh dealers were made in 1999?


(a)4500
(b) 4600
(c)4900
(d) 4400
(e) 5400

Q20.
A hypothetical physical quantity is defined as


(Power X Time) / (Velocity X Velocity)


In what fundamental units would this quantity be expressed?


(a)Time
(b) Power
(c) Velocity
(d) Mass
(e) None

Q21.
Fifteen men could finish a piece of work in 210 days. But at the end of 10 days fifteen additional men are employed, in how many days will the work take to finish now?


(a) 112
(b) 110
(c) 124
(d) 136
(e) 164

Q22.
Which of these matrices is singular

[image: image3.bmp]


12     3

    4     3
         1     0
   
10   12


  A =

      B =

          C =

  D = 



 9      2

   12    9
         0     1

  3     4


(a)A
(b)B
(c)C
(d)D
(e) None

Q23.
Match the following relationships:


(i)
Animal
 – Lion


(1)
Not a type of


(ii)
Basmati – Wheat

(2)
Part of


(iii)
Snake – Reptile

(3) 
A type of


(iv)
Roof – Building

(4)
Superset of


(a) i-3,ii-1,iii-4,iv-2
(b) i-4,ii-1,iii-3,iv-2
(c)i-4,ii-1,iii-2,iv-3


(d) i-3,ii-2,iii-1,iv-4
(e) i-1,ii-4,iii-3,iv-2

Q24.
If & stands for doubling and % stands for change of sign what is the value of 

& % & (6)  -  % & % (6)?

(a)34
(b)37
(c) -36
(d)39
(e)43

Q25.
A sequence is defined recursively as



g(0) = 1;
g(1) = -1



g(n) = g(n-1) - g(n-2)


What will be the value of g(5)?


(a)1
(b)3
(c)4
(d)2
(e)6

Q26.
What curve best suits the following data:

	X
	Y

	0.99
	0.00001

	10.04
	1.02

	99.98
	1.997

	1000
	3.0

	9990
	4.004



(a) y = logn x
(b) y = log10 x  (c) y = ex   (d) y = -log10 x  (e) y = - ex
Q27.
A Two-dimensional array X (9,7) is stored linearly column-wise in a computer's memory. Each element requires 4 bytes for storage of the value. If the first byte address of X (1,1) is 3000, what would be the last byte address of X (8,5)?


(a) 3245
(b) 3225
(c) 3215
(d) 3335
(e) 3452

Q28.
Of the four vectors A, B, C, D find out which pair forms an orthogonal set

 
A =  i+j, B = 3i+4j,  C =  -7i+j, D =  4i-3j


(a)BD
(b) BC
(c) AD
(d) AB
(e) AC

Q29.
Evaluate the expression 

M (373,5) + R (5.8) + T (7.7) - R (3.4) where

M stands for Modulo arithmetic, R stands for Round-off operation and T stands for Truncation Operation

(a) 12
(b) 15
(c) 13
(d) 11
(e) 14

Q30.
Three independent strategies A, B and C have been initiated for cost cutting in a company producing respectively 20%, 25% and 10% savings. Assuming that they operate independently, what is the net saving achieved?

(a) 54%
(b) 46%
(c) 48%
(d) 44%
(e) 55%

Q31.
The scores in class exams and final exam of 2 students are given as below:



Class exam

Final exam



3


1.4

3.5 1.65


Find the Final exam score of a student who has scored zero in the Class exam.


(a) 0.3
(b) 0.1
(c)-0.1
 (d)-0.2
(e) 0.5

Q32.
What equation best describes the curve shown below:
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(a)y = tan x
(b) y + 3 = x
(c) y = x + 3
(d) y = Cos x
(e) y + x = 0


Q33.
The temperature at Chennai is given by the function: -t2/6+4t+12 where t is the elapsed time since Noon. What is the percentage rise (or fall) in temperature between 4.00 PM and 9.00 PM?


(a) 23% 
(b) 34%
(c) 32%
(d) 34.2%
(e) 36.2%

Q34.
An aircraft takes off from A (0o N Lat, 80o E Long) at 2.00 AM local time to B (32o N Lat, 40o W Long). If the flying time is 11 hours what is the local time of landing at B?

(a) 5.40 AM
(b) 4.00 AM
(c) 5.00 AM
(d) 7.00AM
(e) 8.00AM

Q35.
Fill in the last row of the following Truth Table:

	A
	0
	0
	0
	0
	1
	1
	1
	1

	B
	0
	0
	1
	1
	0
	0
	1
	1

	C
	0
	1
	0
	1
	0
	1
	0
	1

	(A ( (B - C)
	
	
	
	
	
	
	
	



Interpret the resulting bit pattern as an integer in an 8-bit computer and write the decimal value.

(a) 45
(b) 54
(c) 47
(d) 48
(e) 38

Q36.
A file is transferred from one location to another in 'buckets'. The size of the bucket is 10 kilobytes. The bucket gets filled at the rate of 0.0001 kilobytes per millisecond. The transmission time from sender to receiver is 10 milliseconds per bucket. After the receipt of the bucket the receiver sends an acknowledgement that reaches sender in 100 milliseconds. Assuming no error during transmission, write a formula to calculate the time taken in seconds to successfully complete the transfer of a file of size N kilobytes.


(a) 10.011 N
(b) 10.11 N
(c) 11.01 N
(d) 11.011 N
(e) 10.101 N

Q37.
The data storage space required is given by the function P (N) = 4000 √N, where N is the number of data elements used. Find the percentage change in storage if the number of data elements is increased by 1%.

(a) 0.75%  
(b) 0.25%
(c) 2%
(d) 1%  
(e) 0.5%

Q38.
A telephone cable is to be run from a junction point on the bank of a river 900 meters wide to an office that is located 3000 meters downstream on the opposite bank. If the cost of laying cable under water is Rs. 5 per meter and that of laying overhead on land is Rs. 4 per meter, find the point downstream where the cable is to cut across the river.


(a) 450 
(b) 3900
(c) 2100
(d) 1800
(e) 2700

END OF  PART II

PART III

Read the following passages and answer questions under each passage

(1) Delegations from London and Paris are meeting to discuss military, trade and diplomatic problems. Each delegation consists of a chairperson, 2 military attachés and 2 trade experts. The English delegation consists of Alan, Bill, Chuck, Dennis and Edwin; the French delegation of Fiona, Giselle, Hillary, Irina and Janice.

Each chairperson is to occupy a rectangular table. The two delegations sit on opposite sides of the rectangular table.

1) Alan insists on being seated at the opposite end of the table from Bill

2) Giselle, who is deaf in his right ear, must be at the right end if the table.

3) Neither Dennis nor Fiona is a chairperson

4) The English military attachés, one of whom is Bill, are seated together, and neither is opposite either of the French military attachés, neither of whom is Giselle.

5) Chuck, a trade expert, is seated opposite Hillary.  

1. Fiona may be a:

(A) trade expert seated next to Irina

(B) military attaché seated next to Irina 

(C) military attaché seated next to Janice

(D) trade expert seated next to Hillary

(E) trade expert seated opposite Bill

2. About which of the following do the stated conditions provide the least information?

(A) The identity of the English chairperson

(B) The identity of the French chairperson

(C) The identities and the positions of the English military attaches

(D) Which delegate is immediately to the right of the English chairperson?

(E) Which delegate is immediately to the right of the French chairperson?

3. If Janice is a military attaché,  which of the following must be true?

I.  The French chairperson is I 

II   Fiona is a trade expert

III Irina is a trade expert

A.I only

B. II only

C. I and II only

D. I or III but not both

E. II or III but not both

4.Which of the following can be deduced form the introductory paragraph plus statements (1), (2), (4), (5) only?

A The identities of the French trade experts 

B The identifies of the English military attachés

C The identity of the English chairperson

D Which two delegates are seated between Giselle and Hillary?

E Which two delegates are seated between Bill and Chuck?

(2) A is north of E and west of C

B is north of A and west of F

D is south and east of A

E is north of F and east of D

F is north of D and west of A

C is south of F and west of D.

1. Which of the towns mentioned is furthermost to the northwest?

(A) A

(B) B

(C) C

(D) E

(E) F

2. Which of the following must be both north and east of F

I. A

II. C

III. E 

(A) I only 

(B) II only

(C) III only

(D) I and II

(E) I and III

3. Which of the following towns must be situated both south and west of at least one other town?

(A) A only

(B) A and F

(C) D and F

(D) D, C and F

(E) C, D and E.

4.Which of the following statements, if true, would make the information in the numbered statements more specific?

(A) C is north of D

(B) E is north of D

(C) A is east of B 

(D) C is east of F

(E) B is north of F

(15). Mr. Pestonji, foreman for Ahuja Construction company is hiring 5 persons to do plumbing and wiring on a site. He must have a minimum of 2 electricians. 9 persons are sent by the union hiring hall: Mihir, Nishant and Olive are electricians, while Raina, Satyam, Tarun, Umedh, Varun and Wasim are plumbers.

Pestonji is unwilling to hire Umedh and Varun together, because he knows from past expereince that they fight all the time.

Satyam and Tarun are buddies and will only work together.

Olive won’t work with Raina.

1. If Mihir, Nishant and Olive are hired, the team of plumbers can consist of 

(A) Satyam and Tarun only

(B) Satyam and Tarun or Umedh and Varun together.

(C) Umedh and Wasim or Varun and Wasim

(D) Satyam and Tarun or Umedh and Wasim or Varun and Wasim

(E) Satyam and Tarun and either Umedh, Varun or Wasim.

2. Pestonji has the greatest number of choices for hiring as plumbers if the electricians he chooses are

(A) Mihir, Nishant and Olive

(B) Mihir  and Nishant

(C) Mihir and Olive

(D) Nishant and Olive

(E) Either Mihir or Nishant plus Olive

3. If Raina is hired, the other persons hired must be:

(A) Mihir, Nishant, Satyam and Tarun

(B) Mihir , Nishant, Olive and either Umedh, Varun or Wasim

(C) Mihir and Nishant, together with either Satyam and Tarun or Umedh and Varun                 or Varun and Wasim

(D) Mike and Nick, together with either Ulysses and Varun or Varun and Wasim.

(E) Mike and Nick, together with either Steve and Tom, Ulysses and Wasim, or Varun and Wasim.

4.Which of the following statements are true?

I. If only 2 electricians are hired, the plumbers must include Satyam and Tarun

II.        If Olive is not hired, Raina must be hired.

III.      If either Mihir or Nishant is not hired, Satyam and Tarun must be hired.

(A) I only

(B) II only

(C) III only

(D) I and III only

(E) II and III only
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